Discussion 2
1. 
The normal distribution is a _____ distribution.


a. Discrete


b. Continuous


c. Positively Skewed


d. Negatively Skewed

2.
Which of the following statements is correct regarding the standard normal distribution?


a. It is also called the z distribution


b. Any normal distribution can be converted to the standard normal distribution


c. The mean is 0 and the standard deviation is 1.


d. All of the above are correct

3.
Which of the following statements is true about a probability distribution?


a. A probability distribution summarizes all possible experimental outcomes and their probability.


b. A probability distribution equals one.


c. A continuous probability distribution is used to summarize a discrete random variable.


d. A probability distribution shows the frequency of a random variable.

4.
The expected value, E(X), of a binomial probability distribution with n trials and probability p of success is:

a. n + p
b. np(1-p)

c. np
d. n + p - 1

5.
Which probability distribution is appropriate when the events of interest occur randomly, independently of one another, and rarely?

a. Binomial distribution

b. Poisson distribution

c. Any discrete probability distribution

d. Any continuous probability distribution

 6.
The variance of a binomial distribution for which n = 100 and p = 0.20 is:

a. 100

b. 80

c. 20

d. 16

 7.
Given that Z is a standard normal random variable, P(-1.0
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1.5) is

a. 0.7745

b. 0.8413

c. 0.0919

d. 0.9332

8.
Given that Z is a standard normal variable, the value z for which P(Z 
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 z) = 0.2580 is

a. 0.70

b. 0.758

c. -0.65

d. 0.242

9.
If Z is a standard normal random variable, then P(-1.75
[image: image4.wmf]£

 Z 
[image: image5.wmf]£

-1.25) is

a. 0.1056

b. 0.0401

c. 0.8543

d. 0.0655

10.
If Z is a standard normal random variable, then the value z for which P(-z
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 z) equals  0.8764 is

a. 0.3764

b. 1.54

c. 3.08

d. 1.16

11.
If Z is a standard normal random variable, the area between z = 0.0 and z =1.30 is 0.4032, while the area between z = 0.0 and z = 1.50 is 0.4332. What is the area between z = -1.30 and z = 1.50?

a. 0.0300

b. 0.0668

c. 0.0968

d. 0.8364

Use the following to answer questions 12-14:

A company is studying the number of monthly absences among its 125 employees.  The following probability distribution shows the likelihood that people were absent 0, 1, 2, 3, 4, or 5 days last month.
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12.  What is the mean number of days absent? 

A)  1.00 

B)  0.40 

C)  0.72 

D)  2.5 

13.  What is the variance of the number of days absent? 

A)  1.99 

B)  1.41 

C)  5.00 

D)  55.52 

14.  Given the probability distribution, which of the following predictions is correct? 

A)  60% of the employees will have more than one day absent for a month 

B)  There is a 0.04 probability that an employee will be absent 1 day during a month 

C)  There is a 0.12 probability that an employee will be absent 2 days during a month 

D)  There is a 0.50 probability that an employee will be absent 0.72 days during a month. 

15.  The mean score of a college entrance test is 500; the standard deviation is 75.  The scores are normally distributed.  What percent of the students scored below 320? 

A)  About 50.82% 

B)  About 34.13% 

C)  About 7.86% 

D)  About 0.82% 

16.  The mean of a normally distributed group of weekly incomes of a large group of executives is $1,000 and the standard deviation is $100. What is the z-score for an income of $1,100? 

A)  1.00 

B)  2.00 

C)  1.683 

D)  -0.90 

17.  A new extended-life light bulb has an average service life of 750 hours, with a standard deviation of 50 hours.  If the service life of these light bulbs approximates a normal distribution, about what percent of the bulbs have life between 600 hours and 900 hours? 

A)  95% 

B)  68% 

C)  34% 

D)  99.7% 

Use the following to answer questions 18-20:

The average score of 100 students taking a statistics final was 70 with a standard deviation of 7. 
18.  Assuming a normal distribution, approximately how many scored 90 or higher? 

A)  0.4979 

B)  0.0021 

C)  0.9979 

D)  2.86 

19.  Assuming a normal distribution, approximately how many scored less than 60? 

A)  0.2271 

B)  0.3729 

C)  0.8929 

D)  None of the above 

20.  Assuming a normal distribution, approximately how many scored greater than 65? 

A)  0.2611 

B)  0.2389 

C)  0.7611 

D)  –0.714 

21. Determine which of the following are not valid probability distributions, and explain why not.





 

a. 

	x
	0
	1
	2
	3

	p(x)
	0.15
	0.25
	0.35
	0.45



b.

	x
	2
	3
	4
	5

	p(x)
	-0.10
	0.40
	0.50
	0.25



c.

	x
	-2
	-1
	0
	1
	2

	p(x)
	0.10
	0.20
	0.40
	0.20
	0.10


QUESTIONS 22 AND 23 ARE BASED ON THE FOLLOWING INFORMATION:

The probability distribution of a random variable X is shown below.
	x
	-4
	0
	4
	8

	p(x)
	0.15
	0.25
	0.20
	0.40


22.
Find the following probabilities:

a. P(X 
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 0)

b. P(X > 3)

c. P(0 
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 X
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 4)

d. P(X = 5)

23.
a.   Find E(X).

b.   Find V(X).

24. The recent average starting salary for new college graduates in computer information systems is $47,500. Assume salaries are normally distributed with a standard deviation of $4,500. 

a. What is the probability of a new graduate receiving a salary between $45,000 and $50,000?

b. What is the probability of a new graduate getting a starting salary in excess of $55,000?

c. What percent of starting salaries are no more than $42,250?

d. What is the cutoff for the bottom 5% of the salaries?

e. What is the cutoff for the top 3% of the salaries?
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